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1.

This Question Booklet (QB) contains 75 (Seventy Five) Multiple Choice Questions
across 11 (Eleven) pages including 2 (Two) blank pages- for rough work. No
additional sheet(s) will be supplied for rough work.

You should enter your Admit Card No. on the first page of the QB before you start to
write.
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Response Sheet supplied along with-QB. You must READ the detailed instructions
provided with the OMR Response Sheet on the reverse side of this packet BEFORE
you start the test.

No clarification can be sought on the QB from anyone. In case of any discrepancy in
the QB, request the Invigilator to replace the QB and OMR Response Sheet with the
fresh QB.

You should ‘write the QB No., and the OMR Response Sheet No., and sign in the
space/column provided in the Attendance Sheet circulated during the test.

You. should retain the Admit Card duly signed by the Invigilator, as the same has to
be produced at the time of admission.

The QB for the Undergraduate Five-Year Integrated Programme is for 75 marks.
Every Right Answer secure 1 mark.

The use of any unfair means shall result in your disqualification. Possession of
Electronic Devices including mobiles phones, headphones and digital watches are
strictly prohibited in the test premises. Impersonation or any other fraudulent practice
may be a criminal offence, and will lead to your disqualification and possibly, penal
action under the law.
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LEGAL REASONING

1. Which country has the world’s largest, written and most comprehensive constitution?

a) Britain b) India ¢) Canada d) South Africa

2. The Concept of Judicial review has been borrowed from the Constitution of -----------
a) US.S.R. b) UK c) US.A d) Switzerland

3. FIR stands for --------------
a) Fact Information Report b) Further Information Report

c) Frequent Information Report d) First Information Report

4. Fundamental rights are included in articles ---------

a) Articles 15—-24 b) Articles 12—-36 c¢) Articles 36 — 51 d) Articles 52 — 78
5. Public Interest Litigation (PIL) can be file by

a) Any citizen of India b) Affected Person

c) Friends/Relatives of the affected person d) Any registration association
6. Ignorance of law is ---------------

a) Not an excuse in Law b) Is an excuse in Law

¢) No such legal principle is followed in Law  d) Partly an excuse in Law
7. In the Indian Federal system, residuary powers rest with the

a) Local government b) State government c¢) Central government d) Judiciary
8. The High Court has the power to issue writ under Article --------------

a) 32 b) 226 c) 35 d) 361

9. The ancient source(s) of the Hindu Law is/are:
a) Sruti b) Smriti c¢) Digest, Commentaries and custom d) All of the above

10. Which of the following is not an offence?
a) Suicide b) Murder c¢) Preparation to dacoity  d) Attempt to murder
11. Tllegal signifies:
a) Every thing which is an offence b) Every thing which is prohibited by law
c¢) Everything which furnishes ground for civil action  d) All the above
12. Imprisonment for life means, imprisonment for:-
a) 20 years b) 74 years c) 14 years d) Whole of the remaining life

13. Every promise and every set of promises, forming the consideration for each other, is an

(a) Agreement b) Contract c) Offer d)Acceptance



14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

An agreement enforceable by law is

a) Agreement b) Obligation c) Contract d) Promise
Child helpline number is

a) 1111 b) 1001 c) 1091 d) 1098
CEDAW is the acronymof

a) Conference on the Elimination of All Forms of Discrimination against Women

b) Convention on the Eradication of Discrimination against Women
c¢) Convention on the Elimination of All Forms of Discrimination against Widows

d) Convention on the Elimination of All Forms of Discrimination against Women

Who was the chairman of the Constitution Drafting Committee?

a) Jawahar Lal Nehru b) Dr B.R. Ambedkar

c¢) Dr Rajendra Prasad d) Sardar Vallabhai Patel
Minto Morley Reforms is also known as

a) Government of India Act 1919 b) Government of India Act 1892
c¢) Government of India Act 1935 d) Government of India Act 1909
The British Parliament passed the Indian Independence Act in

a) July 1946 b) January 1947 c¢) June 1947 d) August 1945
Which among the following type of authority is given to the President of India?
a) Political b) Popular c¢) Defacto d) Dejure
Which among the following is not a Fundamental Right?

a) Right to Equality b) Right to Freedom

c) Right to Property d) Right against exploitation
The age to exercise franchise was reduced from 21 years to

a) 18 years b) 19 years c) 20 years d) 16 years
The classification of government as unitary and federal is on the basis of

a) Centralization of power b) Alteration of power

c) delegation of powers d) separation of powers

Who is celebrated as the mother of Indian Constitution?

a) Ammu Swaminathan b) Dakshyani Velayutham

¢) Madam Bhikaji Cama d) Hansa Metha



25.

26.

27.

28.

A legal document issued by the company to shipper stating the details of goods, quantity,

nature with description of goods and the place of destination. This document is

a) Loan Acknowledgment b) Cash Receipt c) Credit Billing d) Bill of Lading
Read Assertion (A) and Reason (R) and give correct answer by using the code given below:

Assertion (A): A person shall be disqualified for being chosen as, and for being, a member

of either House of Parliament if he holds any office of profit under the Government.

Reason (R): If ‘pecuniary gain’ is receivable in connection with the office. Then it shall not

become an office of profit, irrespective of whether such gains are actually promised or not.
a) Both (A) and (R) are correct and (R) is the correct explanation of (A).

b) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

c) (A) is correct and (R) is incorrect.

d) ((A) is incorrect but (R) is correct.
Which of the following statement/statements is/are incorrect? Give answer by using the code

given below:

a) The election of the President shall be held in accordance with the system of proportional
representation by means of single non-transferable vote.

b) The President may resign, by writing under his hand addressed to the Chief Justice of

India.

c) No resolution to remove the Vice-President of India from his office, shall be moved
unless at least thirty days notice has been given to him.

d) Vice-President shall, not with standing the expiration of his term, continue to hold office

until his successor enters upon his office.

Code:

a) (a), (b), (c) and (d) are incorrect

b) (a), (b) and (c) are incorrect

¢) Only (a) and (b) are incorrect

d) Only (a) is incorrect

A master is liable for the wrongs of his servant if the servant :

a) Has acted outside the scope of this duty in violation of express orders
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29.

30.

b)

Is temporarily lent to another

c) Isdrunk while on duty

d) Has acted in sel-defence against the criminal conductor of the person who sues the
master.

The essential characteristic of tort is , violation of

a) Right in personam b) A contractual right

c) Rightinrem c) None of the above rights

‘X’ having sufficient food does not provide some food to a beggar who dies of hunger. ‘X’ is

guilty of

a) No offence b) Attempt of murder ¢) Murder d) Causing death by rash or negligent act.

31.

32.

33.

34.

35.

36.

37.

LOGICAL REASONING
1-144, ?, E-100, C-81, A-64

a) G-121 b) G-122 ¢) H-122 d) H-128

W, 9 X,6,Y,13,7,?

a) 9 b) 10 c) 12 d) 19
CUP:LIP::BIRD:?

a) BUSH b) GRASS c) FOREST d) BEAK
Flow : River :: Stagnant : ?

a) Rain b) Stream c) Pool d) Canal

A and B are brothers. E is the daughter of F. F is the wife of B. What is the relation
of Eto A?

a) Niece b) Sister-In-Law c) Sister d) daughter
A is the brother of B. B is the brother of C. D is the father of A. Based on these three

statements, which of the following statements cannot be definitely true?

a) A is the brother of C b) C is the brother of A
c) B is the brother of A d) B is the son of D
What was the day on 15th august 1947 ?
a) Friday b) Saturday ¢) Sunday d) Thursday



38. Today is Monday. After 61 days, it will be:

a) Wednesday b) Saturday c) Tuesday d) Thursday

39. It was Sunday on Jan 1, 2006. What was the day of the week Jan 1, 2010?
a) Sunday b) Saturday c) Friday d) Wednesday
40. Statements:

I. The Reserve Bank of India has recently put restrictions on few small banks in the
country.
I1. The small banks in the private and co-operative sector in India are not in a position to
withstand the competitions of the bigger in the public sector.
a) Statement | is the cause and statement Il is its effect
b) Statement Il is the cause and statement 1 is its effect
c) Both the statements | and 11 are independent causes
d) Both the statements | and Il are effects of independent causes
41. Statements:
I.  There is sharp decline in the production of oil seeds this year.
II. The Government has decided to increase the import quantum of edible oil.
a) Statement | is the cause and statement Il is its effect
b) Statement Il is the cause and statement 1 is its effect
c) Both the statements | and 11 are independent causes
d) Both the statements | and 1l are effects of independent causes
42. In a certain code 'MISSIONS' is written as ‘"MSIISNOS'. How is 'ONLINE" written in
that code?

a) OLNNIE b) ONILEN c) NOILEN d) LNOENI
43. In certain code 'TIGER' is written as 'QDFHS'. How is 'FISH' written in that code?
a) GERH b) GRHE c) GREH d) GHRE
44, 1f Z=52 and ACT =48, then BAT will be equal to
a) 39 b) 41 c) 44 d) 46
45. If ROSE is coded as 6821, CHAIR is coded as 73456 and PREACH is coded as
961473, what will be the code for SEARCH ?

a) 246173 b) 214673 C) 214763 d) 216473

46. Find the ODD one out 3, 5, 11, 14, 17, 21
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47.

48.

49.

50.

51l.

52.

53.

54.

a) 21 b) 17 c) 14 d) 3
Pick Odd one:

a) Car b) Bicycle ¢) Motorcycle d) jeep

Pick the odd one
a) Listen b) Swim c) Walk d) Climb
Pick the odd one

a) Gold b) Silver c¢) Carbon d) Diamond
'‘Bank’ is related to 'Money' in the same way as "Transport' is related to

a) Goods b) Road c) Movement d) Traffic
Water: Ocean:: Sand:?

a) Engine b) Waves c) River d) Desert

Look at this series: 2, 1, (1/2), (1/4), ... What number should come next?

a) (1/3) b) (1/8) c) (2/8) d) (1/16)
SCD, TEF, UGH, ___, WKL

a) CMN b) UJI c) VIJ d) NT
FAG, GAF, HAI, IAH,

a) JAK b) HAL c) HAK d) JAI

55. Which word does NOT belong with the others?

a) Inch b) Ounce c¢) Centimeter d) Yard

Q 56 — Q60 Comprehensive Question

The bar graph given below shows the sales of books (in thousand number) from six

branches of a publishing company during two consecutive years 2000 and 2001.

Sales of Books (in thousand numbers) from Six Branches - B1, B2, B3, B4, B5 and B6 of a
publishing Company in 2000 and 2001.
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S57.

58.

59.

60.

61.

62.
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Sales (in thousand numbers)

B4 B&

Branches = 2000 = 2001

What is the ratio of the total sales of branch B2 for both years to the total sales of branch
B4 for both years?

a) 2:3 b) 3:5 c) 4:5 d) 7:9

Total sales of branch B6 for both the years is what percent of the total sales of branches
B3 for both the years?

a) 68.54% b) 71.11% c) 73.17% d) 75.55%

What percent of the average sales of branches B1, B2 and B3 in 2001 is the average
sales of branches B1, B3 and B6 in 2000?

a) 75% b) 77.5% c) 82.5% d) 87.5%
What is the average sales of all the branches (in thousand numbers) for the year 2000?
a) 73 b) 80 c) 83 d) 88

Total sales of branches B1, B3 and B5 together for both the years (in thousand numbers)

is?

a) 250 b) 310 c) 435 d) 560

QUANTITATIVE APTITUTE

45 times of 8 equals to

a) 360 b) 400 c) 300 d) 380
Solve 30+5/5
a) 30 b) 35 c)31 d)7



63.

64.

65.

66.

67.

68.

69.

70.

71.

How many years are there in two decades

a) 10 Years b) 7 Years c) 15 Years d) 20 Years
Simplify (3-4) — (12-17+2)

a) 2 b) 1 c)-1 d) -2

The Product of 70 X 0 X 150 X 50 is

a) 2000 b) 2500 ¢) 1500 d) 0

GENERAL KNOWLEDGE ( CURRENT AFFAIRS)
Which country recently launched its first space station module, called Tianhe-1?
a) United States b) Russia c) China d) India

Which global event was postponed in 2020 due to the COVID-19 pandemic, but is
scheduled to take place in Tokyo in 2021?

a) FIFA World Cup b) Rugby World Cup
c) Olympic Games d) Commonwealth Games
Which country recently signed a historic peace deal with Israel, becoming the fourth

Arab country to do so?

a) Saudi Arabia b) Jordan c¢) United Arab Emirates d) Egypt

Recently, where was the ‘Critical Minerals Summit 2024’ held?

a) Hyderabad b) Chennai ¢) New Delhi d) Bhopal

The Reserve Bank of India recently launched a digital currency pilot project in which

city?

a) Mumbai b) New Delhi ¢) Kolkata d) Bengaluru
BASIC ENGLISH

What is the difference between "its" and "it's"?

a) Its is a possessive pronoun, while it's is a contraction of "it is" or "it has"
b) Its is a contraction of "it is" or it has", while it's is a possessive pronoun

¢) Its and it's have the same meaning and can be used interchangeably



d) Its is an adverb, while it's is an adjective
72. What is the correct way to form a negative sentence in English?

a) Add "not" after the subject b) Add "not" before the verb

c) Add "not" after the object d) Add "not" after the adverb
73. What is the correct way to form a question in English?

a) Add a question mark at the end of a statement

b) Invert the subject and verb order

c) Add the word "yes" or "no" at the beginning of a statement

d) Double the first word of a statement
74. Which of the following is an example of an adverb?

a) Fast b) Faster c) Fastest d) Fastly
75. What is the correct way to form a past tense verb in English?

a) Add -ing to the end of the word

b) Add -ed to the end of the word

c¢) Change the spelling of the word completely

d) Leave the word unchanged



